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TITRE

CORRECTION

Nous savons que:  • Un = Up + ( n - p ) x r

	 • 1 + 2 + 3 + . . . + n = n ( n + 1 )
2

 .

Dans ces conditions: 

Up + Up + 1 + Up + 2 + . . . + Un = Up + ( Up + 1 x r ) + ( Up + 2 x r ) + . . . + ( Up + ( n - p ) x r )

	 = Up x [ 1 + 1 + 1 + . . . + 1 ] + r x [ 1 + 2 + 3 + . . . + ( n - p ) ]

	 ( n - p + 1 ) fois 

	 = ( n - p + 1 ) x Up + r  ( n - p ) ( n - p + 1 )
2

 

	 = ( n - p + 1 ) x  Up + ( n - p ) x r
2

 

	 = ( n - p + 1 ) x  2 Up + ( n - p ) x r
2

 

	 = ( n - p + 1 ) x  Up + ( Up + ( n - p ) x r )
2

 

	 = ( n - p + 1 ) x  Up + Un

2
  .

D’où nous avons bien:  Up + Up + 1 + Up + 2 + . . . + Un = 
( n -p + 1 ) ( Up + Un )

2
 . 

CALCUL DE UP + UP + 1 +  . . . + Un

DÉMONSTRATION
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